
Question Time 

A = array([1,1,1,1],[1,0,0,0],[1,0,0,0],[1,0,0,0] 

For I in range(1,4): 

   for j in range(1,4): 

       A[i,j] = A[i,j-1]+A[i-1,j] 

 

 

 

 

 

 

 

 What is the final value of A[3,3]? 
 
A.  1     B. 3        C. 6    D. 10   E. 20   
               



Question Time 

A = zeros[(200,100)] 

Count = 0 

for  i in range(200): 

   for j in range(100): 

        count+=1 

        A[i,j] = count 

 

 

 

 

 

 

 What is the final value of A[3,10]? 
A. 310   B. 609   C. 309  D 610   E.  none of 
these   
               


